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i. A headteacher at a secondary school is collating the results of a recent English test.
The maximum possible score in the test was 75 points.
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Test Scores

• What score was the mode score in the test?

• What was the range of marks in the exam?

ii. Tanya conducted a survey in a shopping centre. She asked the age of each person
she surveyed and created a graph showing the results.
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Age

• How many people did Tayna survey in total?

• Tanya’s friend Jasmine looked at her results and said ‘This must mean that the average
age of a person you surveyed was 35 years old’. Explain why there is not evidence to
determine the average age.
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